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Solution 

189
by Benjamin Bloch, Ph.D.

a) 1/9 = 0.111111 repeating 1

b) 1/45= 0.022222 repeating 2

c) 1/3 = 0.333333⁄ repeating 3

d) 1/144=0.00694444444 repeating 4

e) 1/18 = 0.05555 repeating 5

f ) 1/6 = 0.166666⁄ repeating 6

g) 1/36= 0.0277777⁄ repeating 7

h) 1/72=0.0138888 repeating 8

 i)  �The repeating 1 through 8. The repeating 9 is missing. Other than the repeating 
3 and 6, the SDQ* of the denominators is 9.

 j)  The closest to repeating 9 is 1/11 = 0.090909

*For an SDQ (single digit quality) discussion see problem #159 in the April 2008 issue.
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by Dave Lindell, L.S.

PROBLEM NO. 188 SOLUTION
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


 
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 

 
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 = − = π


